2017 (S) Roll No:
INTERMEDIATE PART-I (11" CLASS)
STATISTICS PAPER-I  (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68

NOTE; - Write same guestion number and its part number on answer book,
as given in the question paper.

SECTION-I
A Attempt any eight parts. 8$x2=16
(1) Write down main characteristics of Statietics,

(u}  Differentiarc between Descriptive and Infrential Statistics.

(iii)  Define Harmonic Mean.

(iv)  Wirite down the advartages of Arithmetic Mean.

(v)  What is meant by Measurcs of Central Tendency?

(vi)  The sum of deviations from X = 15 for 10 values is 25, find the mean.

(vil)  Inaskewed distribution, mean = 120 and median = 110, find value of mode.

(viii) Define Index Number,

(ix)  Explain the Fixed Base Method.

(x)  Distinguish between Weighted and Unweighted Index Number,

(xi)  Given Z p,g, =1500 and X p g, = 2040 . Find base vear weighted index number,

{(xii) Deline Paasche's Index Numher.
3 Attempt any eight parts. 8x2=16
(1) What is Classification”?

{11} Define Histogram.

(iii)  Define Absolute Dispersion.

{iv)  What is Pasitive Skewness?

(v) What is Standard Deviation?

(vi)  What are the values of 8 and £, in a symmetrical distribution?

(vi) If @ =25and (3, =75, find quartile deviation and inter-quartile range.

{viin)  What is co-cfficient of variation?
(ix)  What is a random experiment?
%) Define the term probability.

{x1) State the addition Law of Probability for any two events,

|

(wii) I P(d)= 7 P{B)= % and A4 and B are independent events then find P{ 4N B)

4, : Allempt any six parts. 6x21=12
(1) Define Discrete Random Variable, Give examples.
(ii) Detine the Discrete Probability Distribution,
(i1} What arc two properties of Probability density function?
(iv) If E(X)=10, ¥ =2X +5, Find E(F)
(v) IT a coin is tossed twice, write the p.d for the no of heads.
(vi)  Define Binomial Experiment.

(viiy If m=10, p =04, find mean and variance of binomial r.v.x.

(viii) Define Hypergeometric Probability Distriburion,
(ix) o n=45 N=6, K=3, find P(X=1)




(2)

SECTION-II .

NOTE: - Attempt any three questions.

S.4a)

(b)

6.(a)

()

74a)

(k)

(b)

9.qa)

ib)

The number of children in 12 different families are S, 2, 8, 3, 4, 3, 5, 6, 5, 4, 2, L.

Compute mean, median and mode, 4
Calculate Median and Maode for the following data;- 4
Marks 0—19 | 20—-29 | 3039 | 40-49 | 50-59
Number of students 05 25 | 40 | 20 10 |

Calculate Standard Deviation, Variance and Co-efficient of Variation from the following data:- 4
v |'525 [ so0 | a75 | 450 | 425 | 400 | 375
F1 2 |8 | & |87 | 4 | o | 22

|_ower and upper quartiles of a distribution are 142.36 and 167.73 respectively
while median is 153.50, Find Co-efficient of Skewness. 4

Compute the index numbers by Fisher’s Idea formula for the data given below:- 4
Y g, =8800, Xp.g,=7800
T o, =15400, T p,a, = 13710
Lp.q, = 11000, X p,g, = 23000
2 Pag, = 16370

Two uniform coins are tossed, Find the following probabilities:- 4
(i) Both are heads (i) Both faces are same
(1il) Only one is head (iv) At Jeast one is head

An urn contains 5 white ball and 3 black balls. Two balls are drawn at random without
replacement. If X denotes the number of white balls, then find the probability distribution
et A, 4

A continuous random varigble X which assumes the values betwesn X =2 and X =4

has the density function given by:- 4
fix)= {1; I}¢ 1€ x4
{if Showthat P(2<xr<4}=1 (ii) Find P{24< x<3.5)

If the prabahility of a defective bolt is 0.1. Find mean and the standard devialion of
the distribution of defective bolts in a total of 500. 4

A commiliee of size 5 is to be sclected at random from three women and five men,
Find the expected number of wamen on the commitiee, 4
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Paper Code
| 2017 (S) Roll No.
umber: 2 1 81 | INTERMEDIATE PART-I (11* CLASS)

STATISTICS PAPER-I (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each ohjective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Usc marker or pen to fill the circles,
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objeetive type question paper and leave others blank. No eredit will be awarded in case
BLBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

().No.l

(1) A variable which takes measurable values is calleda  variable.

(A} Continuous (B) Qualitative (C) Discrete (D) Constant
(2} The part of the table containing row captions is called:-

{A) Box-head (B) Body (C) Data (D) Stub
(3) IHistogram is a graph of:- (A) Time scries

(B} Frequency distribution (C) Regression (D) Cumulative Frequeney Distribution
(4} The sum of deviations from mean is always:-

(A) Negative (B) Positive (C) More than one (D) Zero
(3} Geomerric mean is always _ than Harmonic Mean. |

{A) Less (B Mare (C) Equal to Mode (D) None of these
(6)  Positive square root of variance is called:-

(A) Mean Deviation (B) Range (C) Quartile Deviation (D) Standard Deviation
t7)  Coefficient of varialion 1s a measure of  dispersion.

{A) Relative (B) Absolute (C) Square (D) None of these
(8} Ina mesokurtic distribution the /3, is:-

(A) Less than 3 (B) Mare than 3 (C) Zero (D) Equal 1o 3
(9} The index number for base period is always equal to:-

(A) 1 (B) 200 (C) 100 (D) Zero
(10) The most suitable average used in construction of index number is:-

(A) Arithmetic mean  (B) Harmonic mean  (C) Mode (D) Geometric mean
(11y If AMNB=¢, then 4 and 5 are _ events.

(A} Equally Likely (B) Mutually exclusive (C) Exhaustive (D) Impossible

(12) The probability of a certain event always lies between:-

{A] —1and 1 (By —1 and 0 ({C) Oand 1 (D) —-= 100
(13)  Anexperiment which produces different outcomes is called experiment.

(A) Random (B) Special (C) Exact (D) Simple
(14) A sef of all possible outcomes of random experiment is called:-

{A) Sub space (B) Outer space (C) Sample space (D) Random space
(15) A subser of sample space having outcomes of interest is called an:-

(A) Event (B) Variable () Constant (1)) None of these
(16) Ina Binomical experiment, the individual trials are:-

(A) Dependent (B) Same (C) Unequal (D) Independent
(17) The Hypergeometric probability distribution has _ parumeters,

{A) One {B) Three (C) Zero (D) Two
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Paper Code 2
2017 (S) Roll No,

D number: 2 1 83 | INTERMEDIATE PART-I (11" CLASS)

]

STATISTICS PAPER-I (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker ar pen to fill the circles.
Curting or filling two or more ¢ircles will result in zero mark in that question, Attempt as many questions
a5 given in objective type question paper and leave others blank, Mo credit will be awarded in case
BUBBLES are not filled. Do not solve question on this shect of OBIECTIVE PAPER.

Q.No.1

(1) A setof all possible outcomes of random experiment is called:-

(A) Sub space (B) Outer space (C) Sample space (D) Random space
{21 A subset of sample space having vutcomes of inlerest is called an:-

(A ) lvent (B) Variable (C) Constant ([} Mone of these
(3)  In a Binomical experiment, the individual trials are:-

(A) Dependent (B) Same (C) Unequal (D) Independent
{4)  The Hypergeometric probability distribution has  parameters.

{A) One (B) Three (C) Zera (D) Two
(3} A varigble which takes measurable valuesiscalleda  variable.

(&) Continuous (B) Qualitabive (C) Diserete (D) Constant
(6)  The part of the 1able containing row captions is called:-

(A) Box-head (13) Body (C) Data (D) Stub
(7)  Histogram is a graph of’- (A) Time series

{3} requency distribution (C) Regression (1)) Cumulative Frequency Distribution

(8)  The sum of deviations from mean is always:-

(A) Negative (B) Positive (C) More than one (D)) Zera
(%)  Geometric mean is always _ than [Harmonic Mean.

{A) Less (B) More (C) Equal to Mode (D) None of these
(10] Positive square root of variance is called:-

(A) Meun Deviation (B) Range (C) Quartile Deviation (D) Standard Deviation
(11} Coefficient of variation isa measureof  dispersion.

(A) Relative (B) Absolute (C) Square (D} None of these

(12} Ina mesokurtic distribution the f, is:-
(A) Less than 3 (B) More than 3 (C) Lero (1Y) Equal to 3
(13) The index number for hase period is always equal ta:-
(A) 1 (B) 200 (C) 100 (D) Zero
{14) The most suitable average used in construction of index number is;-
(A) Arithmetic mean (B} Harmonic mean  (C) Mode (D) Geometric mean
(15) If ANB=¢, then 4 and B arc_____ ¢vents,
{A) Equally likely (B) Mutually exclusive (C) Exhaustive (D) Impossible

(16) The probability of a certain event always lies between:-

(A} —1and | (B) =1 and 0 (C) Gand 1 (D} ~ectol |
(17) Anexperiment which produces different outcomes is called experiment.
{A) Random (B) Special {C) Exact (D) Simple

39(0b))( V€ TE)-2017(8)-200 (MULTAN)
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i Paper Code
2017 (8) Roll No.
Number: 2 1 85 | INTERMEDIATE PART-1 (11 CLASS)

STATISTICS PAPER-1 (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Nuote: You have four choices for each objective type question as A, B, C and D, The choice which you
think is correct, fill that cirele in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt a8 many guestions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBRBLES are not filled, Do not solve question on this sheet of OBJECTIVE PAPER.
().No.l

(1) Inamesokurtic distribution the /4, is:-

(A) Less than 3 (B) More than 3 (C) Zero (D) Egual o 3
(2)  The index number for base period is always equal to:-

(A) 1 (B 200 (C) 100 (D) Zero
(3} The most snitable average used in construction of index munber is:-

{A} Arithmetic mean  (B) Harmonic mean (C) Mode (D) Geometric mean
4y If A[1B=¢, then A and B are  Eevents.

(A) Bqually likely  (13) Mutually exclusive  (C) Exhaustive (D) Impossible

(5)  The probability of & cerlain event always lies between:-

(A) —land ! (B) —1 and 0 (C) Dand | (D) —x 00
{61  Anexperiment which produces different outcomesiscalled  experiment.

(4A) Random (B) Special (L) Exact (L) Simple
(71 A setof all possible outcomes of random experiment is called:-

(A) Sub space (B) Outer space (C) Sample space (D) Random space
(#) A subset of sample space having outcomes of interest is called an:-

{A) Event (B) Variable (C) Constant (D) Nong of these
(9 Ina Binomical experiment, the individual trials are:-

(&) Dependent (B) Same (C) Unequal (D} Independent
(10} The Hypergeometric probability distribution has _ paramelers.

{A) One {B1 Three () Lero (D) Two
(11) A variable which takes measurable valuss iscalleda  variable,

(A} Continuous (B} Qualitative (C) Discrete (I Constant

(12} The part of the table conlaining row caplions is called:-

(A) Box-head (B} Body {C) Data (D) Stub
(13) Histogram is a graph of:- (A) Time series

(B Frequency distribution (C) Regression (D) Cumulative Frequency Distribution
(14) The sum of deviations from mean is always:-

(A) Negative (13) Positive (C) Morethanone (D) Zero
(15) Geometric mean is alwavs  than Harmonic Mean.

(A) Less (B) Mpre (C) Equal 1o Mode (D) None of these
(16) Positive square root of variance is called:-

(A) Mean Deviation (B) Range (C) Quartile Deviation (D) Standard Deviation
{17} Cgeftictent of variation 1s a measure ¢f  dispersion,

(A) Relative {B) Absolute (C) Square (13) None of these

39(0h))(1¥ TX TA)-2017(5)-200 (MULTAN)



Paper Code
2017 (58) Roll No.

Numbers 2 1 87 | INTERMEDIATE PART-1 (11 CLASS)

STATISTICS PAPER-I1 (NEW SCHEME) (SESSION 2015-201 7)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each ohjective type question us A, B, C and D, The choice which you
think is correet, fill that circle in front of that question number, Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

). No.1

(1) Geometric mean is alwayvs _ than Harmonic Mean.

(A) Less (B) More (C) Equal to Maode (D) None of these
(2)  Positive square roct of variance is called:-

(A) Mean Deviation (B) Range (C) Quartile Deviation (D} Standard Deviation
(3} Coefficient of variation is a measure of __ dispersion,

(A) Relative (B) Absolute (C) Square (I3} Nome of these

14} In a mesokurtic distribution the 3, is:-

(A) less than 3 (B) More than 3 (C) Zero (13) Equal to 3
{5)  The index number for base period is always equal to:-

(A} 1 (B) 200 (C) 100 (D) Zero
(6)  The most suitable average used in construction of index number is:-

(A) Arithmetic mean  (B) Harmonic mean  (C) Mode (D) Geometric mean
(7y If AMNB=¢, then 4 and Bare  evenrs,

(A) Equally likely (B) Mumally exclusive (C) Exhaustive (D) Impossible

(8)  The probability of a certain event always lies between:-

{(A) —Tand | {B) —1 and0 (C) O and ] (D) —= ta
(9)  Anexperiment which produces different outcomes is called  experiment

(A) Random (B) Special (C) Exact (D) Simple
(10} A set of all possible outcomes of random experiment is called:-

(A) Sub space (B Outer space {C) Sample space (¥} Random space
(11} A subset of samiple space having outcomes of interest is called an:-

(A) Event (B) Variable (C}) Constant (D) None of these
(12} In a Binomical experiment, the individual trials are:-

(A) Dependent (B) Same (C} Unequal (1)) Independem
{13} The Hypergeometric probability distribution has __ parameters.

(A) One (B) Three (C) Zero (D) Twao
(14) A variable which takes mensurable values is called a__ wvariable,

(A) Continuous (B) Qualitative (C) Discrete (D) Constant

(13) The part of the table containing row captions is called:-

(A} Box-head (B) Body (C) Data (D) Stub
(16) Histogram is a graph of:- (A) Time series
(B} Frequency distribution (C) Regression (D) Cumulative Frequency Distribution

(17} The sum of deviations from mean is always:-
(A} Negative (B) Positive (C) More thanone (D) Zero
39(0b))(PE T T LX)-2017(5)-200 (MULTAN)




2017 (8) Roll No:
INTERMEDIATE PART-1 (11" CLASS)
STATISTICS PAPER-1  (OLD SCHEME) (SESSION 2012-2014)
I'IME ALLOWED: 3,10 Hours SUBJECTIVE MAXIMUM MARKS: 83

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2, Attempt any eight parts. 8x2=16
(i) Define Statisties as a Discipline of Science,

(i1} Define Inferential Statistics.
(i) Whal is an average?
{iv) Lo a certain distribution, ift T(.x - 15)=5, Z(X-18)=0and T(x-21)=-21
then what is the value of mean and why?
tv) I m=3 n =2 % =3 ¥ =4, then find Fn
(Vi) Ifmean= 20, Median = 18.67, find Mode.
(v Define Quartiles.
(viii}) Deline Price Relative.
(1x)  What is Fixed Base Method'?
(%) Define Weighled Index Numbers.
(xi) Given L p g, =1500 and ¥ p g, = 2040, Find basc year weighted index number,
(xii)  What is Consumer Price Index Number?
3. Attempt uny eight parts. §x2=16
(v Wrie the names of four main parts of Luble,
(it} Define Histogram.
(iit)  Define Range.
tiv)  Whal are main Relative Measures of Dispersion?
i¥) Define Variance,
(vi)  Write down any two preperties of Mean Deviation.
(vit]  Define Moment about Mean.
(viii) What is Skewness?
(ix) Define Random Experiment,
(x)  Whatis Classical or “A Priori™?  Define Probability,

(x1)  State the Multiplication Law of Probability.
i) 1f P(4)=5and P(ANB) =.15 thenfind P(B/, ).

4. Attempt any six parts, 6x2=12
(i) Four coins are tossed. Give the values of tandom variable X (0. of heads).
{i1) Define Mathematical Expectation.
(i) Define Constant. What is its expectation?
(v) I flx)=4x, x=0,,, 2. 4. Find thevalve of 4.
(vi  If E(x)=32.thenfind E(7-2E(x))
(vi)  Definc Binomial Randon Variable.
(v If #=7 and p=07. Find mean and variance.
(vil}  Ulve accurate range of hypergeometric variahle,

tix]  Give the mean and variance of hvpergeometric distribution.

PT.O




(2)
SECTION-IT

NOTE: - Attempt any three questions.
5(a)  The deviations from X = 22.5 of different values of X are—12. —R.5, 3.0, 0,

2.3, 6.6, 9.2,1.6, (0.5 and 0.4, TFind the lower quartile of X. 4
(b)  The AM. of the serics is 30.5 marks. Caleulate median. =
Marks 10 2&_’ 30 40 | 50 ‘
| Frequency 8 1¢ | 29| 15 7
f.lay  Find the hirst three moments about mean of the following data- 4

| xi [ 87 91 [ 89 [88 [ 89 [91 | 87 ]

{h}  Tind the mean deviation of the following data:- 4
| Group [1-3[4-7[7-9]10-12 | 1315 |
| Frequency 5 12 20 7 2
J{a)  Compute chain index numbers for the following data taking 1997 as base year:- 4

[ Wear | 1997 [ 1998 | 1995 | 2000 | 2001 | 2002 | 2003

| Price | 180 | 185 | 194 | 200 | 204 | 218 | 220

(b} Tfthree cards are chosen from a well-shuffied deck of 52 playing cards.
What is the probability of selecting:- (i} 3 red cards (11) no hearl cards? 4

B.la) A committee of size 3 is to be selected at random from 3 women and 5 men.
Obtain probahility distribution for the number of women selected for the committee. 4
{b) A continuous random variable X which can assume values between X' =2 and X =8
inclusive has a density function given by a(x + 30) where o is a constant.
Find ) a and (i) P{x=z4) 4

Ga) A fair die is rolled 5 times and the number of sixes is counted.
Find the probability of (i) Nosix  (ii) At least one six A
(k} In Hyper Geometric Distribution n=4, N=10 and K =3,
Thenfind (i) P{X22) (i) P(X=4) 4

SECTION-II (PRACTICAL)
10,  Attempt any three parts. 3x35=18
{A) The loganithm of five values of X are pivenas 1, 1.2, 1.3, 2, 4, Find Geometric Mean,

(B} Tora set of ungrouped values. the following sums are found, n =15, Tx =480, Tx* =15735.
Find ccefficient of Variation,

() Calculate the weighted average of given index numbers when food, fuel and light
and clothing are given weights of 3, | and 3 respectively.
}‘ Commodily Food | Fuel and light | Clothing |
Index number (I) | 111 105 106

(1) A machine produces parts which are graded 4 or B with proportion 2 : 1. Caleulate the probabilities
of oblaining 0, 1, 2, 3, 4, § parts of finish 4 in a sample of 5.

(F) A bag contains 4 red and 6 black balls, A sample of 4 halls is selectad from the bag without
replacement. Let X be the number of red balls. Find the probability distribution of X .
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Paper Code ] 2017 (8) Roll No.
! N 1 N
Nidabous 6 1 8 1 INTERMEDIATE PART-1 (11" CLASS)

STATISTICS PAPER-I  (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBHBLES are not filled. Do not solve question 6on this sheet of OBJECTIVE PAPER.
Q.No.l

(1} A Statistic which is not measurable is called:-

(A) A constant (B) An attribute (C) A variable (D) A parameter
(2)  Data which has been arranged in ascending or descending order is called:-

(A) Raw data (B) Grouped data (C) Arrayed data (1D} Ungrouped data
(3} A table has at least:-

(A) Three parts (B) Five parts (C) Twao parts (D} Four parts
(4)  The geomelricmeanof o and b  is:-

() ab ®) (ab: (©)a+b o) L2

(5) Ifany value in a series is zero, then we can not calculate the;:- )

(A) Mean (B) Mode (C) Median (L) Harmonic Mean
(0) Cormected variance is equal to:-

O 2. WP A h

(A) 87 e (B] §* - iz' (©) §* - 5 (D) =
(7)  The second moment about mean is equal to:-

(A) S.D (B) Skewness (C) Variance (D) m,
(8)  For Leptokurtic Distribution:-

(A) b, =3 (B) b, >3 (C) b, <3 (D) b, >3
(9)  Inchain base method. the base period is:-

(A) Fixed (B) Changed {C) Constant (D) None of these

(10)  An index number is called simple index number when it is computed from:-

(A) Simple Index  (B) Single Varlable (C) Two Variables (D) None of these

(11} ___isthe probability of getting two heads when three balance coins are tossed once,
* 3 ® > © 3 ®
(12) If P(4)=060, P(B)=0.50, P(4NE)=0.30 then P( Al B) iz cqual to-
(A) O.B (B) 0.9 (C) 0.4 (D) None of these
(13} Probability density function is the probability functionof  random variable,
(A) Qualitative (B) Continuous (C) Discrete (D) Mone of these

(14) If ¥ =5X +10, then §.D(¥) is:-
(A) 5 5.0(X) (B) 25 §.D{X) (C) 10 5.D{X) (D) 5 8.0(X)+10

(15) Binomial distribution is positively skewed when:-

(A) p=g (B) p>g (€) p<¢g (D) p =‘%
(16) In binomial distribution the range of X is:-

(A)Dto = (B) Oto n (C) —ec ta o (M1 a
(17) Inhypergeometric distribution, the trials are:-

(A) Independent (B) Dependent () Continuous (D) None of these
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the cireles.
Cutting or filling two or more circles will result in zero mark in that question, Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question Gen this sheet of OBJECTIVE PAPER.

).No.1

(1}  Binomial distribution is positively skewed when:-

&) p=g B p>q © p<q D) p==
(2)  In binomial distribution the range of X is:- )

(A) Ot oo (B) Oto n (C) —« to + = (D)1 e n
(3)  In hypergeometric distribution, the trials are:-

(A) Independent (B) Dependent (C) Continuous (D) None of these
(4} A Statistic which is not measurable is called:-

{A) A constant (B) An attribute (C) A variahle (D) A parameter
(5)  Data which has been ammanged in ascending or descending order is called:-

{A) Raw data (B) Grouped data (C) Arraved data (D) Ungrouped data
(6) A table has at least:-

(A} Three parts (B) Five parts (C) Two parts (D} Four parts
(7) The geometric meanof ¢ and b  is:-

(A) @b (B) {ub}% (C) Ja+b D) & ; :
(8) Ifany value in a series is zero, then we can not calculate the:-

(A) Mean (B) Mode (C) Median (ID) Harmonic Mean
{3)  Corrected variance is equal to:-

s -2 ®) ' -1 © 8- ©
(10)) The second moment about miean is equal to:-

(A) 8D (B) Skewness (C) Variance (D) m,
(11) For Leptokurtic Distribution:-

(A) b, =3 (B) &, >3 (C) b, <3 D) b >3

(1Z) In chain base method, the base period is:-

(A) Fixed (B) Changed (C) Constant (D) None of these
(13)  An index number is called simple index number when it is computed from:-

(A) Simple Index  (B) Single Variable (C) Two Varigbles (D) None of these

(14) __ isthe probability of getting two heads when three balance coins are tssed once.
(A) % ®) 2 (©) % ) 2
(15) If P(4)=0060, P(8)=050, P(4NB)=030 then P(4U B) is equal to:-
{A) 0.8 (B) 0.9 (C) 0.4 (1)) None of these
(16) Probability density function is the probability functionof  random variable.
(A) Quulitative (B) Continuous (C) Discrete (D) None of these

(17) If ¥ =5X +10, then §.D{Y) is:-
(A) 5 5.D(X) (B) 25 5.1{X) (C) 10 8.DLX) (D) 58.D(X)+10
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| Paper Code N 2017 (8) Roll No.
6185 J INTERMEDIATE PART-I (11" CLASS)

Number:

STATISTICS PAPER-I (OLD SCHEME) (SESSION 2012-2014)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correet, fill that circle in front of that question number, Use marker or pen to fill the circles.

Cutting or filling two or more circles will result in zero mark in that question, Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not selve question Gon this sheet of OBJECTIVE PAPER.
Q.No.1

(1) For Leptokurtic Distribution:-

(A) b, =3 (B) b, >3 (C) b, <3 (D) B, >3
(2}  In chain base method, the base period 1s:-

(A) Fixed (B) Changed (C) Constant (D) None of these
(3} Anindex number is called simple index number when it is computed from:-

(A) Simple Index  (B) Single Variable (C) Two Variables (D) None of these

| (4) o is the probability aggeﬁjng two heads wh;n three balance coins 'ldre tossed once.
| (A) 3 (B) B () 3 (D) 3
(5) If P(4)=060, P(8)=050, P(4NB)=030 then P{4E) is equal to:-
(A 0B (B) 0.9 (C) 0.4 (1)) None of these
(6) Probability density function is the prohability fonctionof  random variable.
{A) Qualitative (B) Continuous (C) Discrete (1) None of these

(7 I ¥F=5X+10, then S.D.(l’ ) isi-
(A) 3 8.D(X) (B) 25 §.0(X) (C) 10 S.0X) (D) 58.D(X)+10

(8) DBinomial distribution is positively skewed when:-

() p=g ®) p>q © p<q ®) p=+
(%) In binomial distribution the range of X is:-

{A)Oto = {(B) Dto n (C) —= o + = (M1 to n
(10} In hypergeometric distribution, the trials are:-

(A) Independent  (B) Dependent (C) Continuous (D) None of these
(11} A Statistic which is not measurable is called:-

(A) A constant {B) An attribute (C) A variable (D) A parameter
(12) Data which has been arranged in ascending or descending order is called:-

(A) Raw data {B) Grouped data (C) Arrayved dala (D) Ungrouped duta
(13} A table has art least:-

(A) Three parts {B) Five parts (C) Two parts (I3} Four parts
{14) The geometricmeanof a and b is=-

(&) ab (®) (ab)? (©) Ja+h o) g
(15) [Tany value in a series is zero, then we can not calculate the:- )

{A) Mean (B) Mode (C) Median (D) Harmonic Mean
(16) Corrected variance is equal to:-

ki W h h

8 -2 (B 5% - = (© 8 -2 (D) %
(17) The second moment about mean is equal to:-

(A) 5D (B) Skewness (C) Variance (D) m,
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Paper Code 2017 (S) Roll No.
( 61 87 | INTERMEDIATE PART-I (11" CLASS)

. Number:
STATISTICS PAPER-I (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: |7
Note: You have four choices for each objective type question as A, B, C and D. The cheice which vou
think is correct, fill that cirele in front of that question number, Use marker or pen to fill the circles.
Cutling or filling two or more circles will result in zero mark in that question. Attempt as many questions

as given in objective type question paper and leave others blank. No credit will be awarded in ease

BUBBLES are not filled. De not solve guestion 6on this sheet of OBJECTIVE PAPER.
0.No.l

(1) Ifany value in a series is zero, then we can not calculate the:-

(A) Mean (B) Mode (C) Median (D) Harmonic Mean

(2) Corrected variance is equal to;-
2

ws -2 ws-L os-L ool
(3] The second moment about mean is equal to:-

(A) 8D (B) Skewness {C) Variance (D) m),
(4) For Leptokurtic Distribution:-

(A) b, =3 (B) B, >3 (C) b, <3 (D) b >3
(3)  Inchain base method, the basc period is:-

(A) Fixed (B) Changed (C) Constant (D) None of these

(6)  Anindex number is called simple index number when it is computed from:-
(A) Simple Index  (B) Single Variable (C) Two Variables (D) None of thuse

(7 is the probability of getting two heads when three balance coins are tossed once.
i 3 3 l

A) = B C) = (D) =

(A g (B) 2 (€) 3 D) 5
(8) If P(4)=060, P(B)=050, P(ANB)=030 then P( AU B) is cqual to:-

(A) 0.8 (B) 0.9 (C) 0.4 (1) None of these
(9} Prohability density function is the probability function of random variable,

(A) Qualitative (B) Continuous (C) Diserete (D) None of these
(10) If ¥=53X +10, then S.D(V) is:-

(A) 5 8.D(X) (B) 25 8.D(x) (C) 10 S.0(x) (D) 5 8.0(X)+10

(11) Binomial distribution is positively skewed when:-

(A) p=4g ®) p>q © P<q ©) p=3
(12) In binomial distribution the range of X is:-

(A) Do =« (B) 0w n (C) —e to + o (D)1 o n
(13)  Inhypergeometric distribution, the trials are:-

(A} Independent  (B) Dependent (C) Continuous (D) None of these
(14) A Statistic which is not measurable is called:-

{A) A constant (B) An attribute (C) A variable (D) A parameler
(13) Data which has been mrranged in ascending or deseending order is called:-

(A} Raw data (B) Grouped data (C) Arrayed data {13) Ungrouped data
(16} A table has at |east;-

(A) Three parts (B) Five parts (C) Two parts (D) Four parts
(17) Thegeometricmeanof o and &  isi-
|
. S T &
(A) ab (B) (ab)? (€) Ja+b (D) ‘”;
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